
JAZZ S50 KIDS SIDE FRAME

PJSDSD
17/01/202217/01/202204/06/2020

1:5 ConfirmedVerifiedDrafted

Initials
Date

Scale:

Plan No.

E001154

---

C/

E001154 / C

Material
No. Plan Article Quantity
1
2
3
4
5
6
7
8
9
10
11

12

13
14
15
16
17
18
19
20
21
22
23
24
25

X000582
X001473
X002132
X002163
X002169
X002679
X003293
X004308
X004309
X004415
XC00119
XC00120
Y023934
Y023933
D4.8x19 DIN7983
M6 DIN125
M12 DIN127
M6x40 DIN7984
M6 DIN986
---
M6x35 DIN7984
---
M12x55 DIN931
M6x45 ISO7380
---
D2x12 DIN1475
D4.8x22 DIN7981

1005740
1002994
1992423
1488100
1992791
1994452
1001626
1904129
1904133
17193
3990382 (R)
3990383 (L)
20778..(R)
20777..(L)
1001534
1001564
1001572
1006850
1008492
1008643
1903903
1908236
3994158
1991017
1991447
1992597
2990070

1
2
1
1
1
1
1
2
1
1
1
1
1
1
2
2
1
2
4
1
1
1
1
1
1
1
2

Right side only depicted
Wheels not depicted

VERMEIREN

12

20

19
10

8

17

17

14916

7

1

6

25

13
2

22

15

23

18

21

14

Mounting torque 60 Nm

A

Detail A

16
3 5

11

424


